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i TODQ: INTRQ from drive?
Address decoding

Wiring this to the ZBOs interrupt pin will cause issues when operating the Z80 in interrupt Mode 2.

A7 5 = u2 S, 19 /PI0_CS Have left it disconnected for the time being.
A6 4 |pg N
A5 6
P2
AL 8 | o3
A3 1 e,
)2
e —Lirs DRESET 1 2 IDE-GND
B AML——15 e PA7 3 4 PBO
P7 PA6 5 6 PB1
1 A15 122 3 PAS 7 8 PB2
1 Aloy RO
2 ALk 30 814 5 R1 PA4 9 10 PB3
3 A135 5 [ K16 7 g PA3 11 12 PB4
4 A12% 7[.91s 9 g3 PA2 13 14 PB5
5 A115 o[ = 110 12 | p PA1 15 116 PB6
6 A10 1115 _J12 14 | pe PAQ 17] 2 18 PB7
7 A9 = 16 | e IDE-GND_19[_ &]20
B_AB 18 | p; 21 S22 IDE-GND
9 A7 1drQ 1 vce DIOW 23 : 24 IDE-GND
10 A6 g6 DIOR 25| o_|26 IDE-GND
11 A5 e 74HCT688 T 8
12 A4 . B ol 29 30 IDE-GND
13 A3 S ]é U1 N 82C55A_PLCC INTRQ 31 32
14 A2 o DAO 33 34
/RESET 39| |5 PAO
15 AL RESET 391 geser € PAO -2 e DAL 35 136 DA2
16 AO IS PAL EE DCSO 37 38 DCS1
17 GND PWR_FLAG vee /PIO_CS 7| e Eii > pA3 ACT 39 40 IDE-GND
18 5V JF \cc PWR_FLAG /RD 6 4l PAL
19 M1 RD PAY PH—— O
|20 /RESET WR 40] yr PAS |43 PA5S
22 INT A0 10 PA7 P IDE-GND
23 MR All no PBO
o4 /W Al 91m ppo f20 PBY GND
4@25 ap o P PB1
26 _/I0RQ po2 |22—FB2.
DO 38 24 PB3
27 DO DO PB3
i 0L 37|y, oou |25 PB4
59 D2 D2  36f, pps |26 PBS
%0 D3 D3 35{p% pRe 272 PB6.
(31 D& D4 33|, pp7 128 PB7 74HCTOL
32 D5 DS 32) u3c
'33 D6 D6 31| D6 pco |Lé PCO 5 6 DIOW U3E
3. D7 D7 30] 7 pct K7 PC1 11 10 DIOR
e Ty 18 DAO
pco (48 DAD U3A 7LHCTOL
e oos [19 PC3 1 DQ 2 DCSO
96 RXAs 15 DAL
PCh 7LHCTOL u3D
ETe pee |1t PC5 9 8 DCS1
39}( pce L3 DA2 U3F
X pc7 L PC7 13 12 DRESET
2 7LHCTOL 7LHCTOL
(&)
o
vee
1 2 3
GND
0.1uf 0.1uf 0.1uf
GND
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